Learning Object Name Total Time | Status zzil_e: ;2:;”;:’% Result
37 minutes,
3 3152 complete 80%  N/A A
seconds
37 minutes,
I 31.52 complete 80%  N/A N/A
seconds
urnix-xerte:p-T:ntroduction 0000:00:02.90 N/A N/A true neutral
urn:x-xerte:p-2:Why S 0000:00:01.63 N/A N/A__true neutral
urn:x-xerte:p-3:1-multiplechoice:which_JiEEE 0000:11:27.36 N/A N/A b correct
urn:x-xerte:p-4:1-multiplechoice:Tech 0000:01:37.60 N/A NA 8 correct
urmox-xerte:p-5: T he_A | 0000:00:02.63 N/A NIA- true neutral
urnix-xerte:p-
urn:x-xerte:p-7:1-multiplechoice:Which_JENUUENNUN U 0000:06:28.22 N/A N/A  abcd  correct
urn:x-xerte:p-8:1-match:Question 5 0000:03:47.18 N/A N/A - null correct
1 0000:00:02.40 N/A Nia__true neutral
urn:x-xerte:p-10:1-match:Question 6 0000:01:20.92 N/A N/A null correct
urnix-xerte:p-11:1-multiplechoice:Which_olilllNE N  00/00:07:54.99 N/A N/A_—ab.c correct
urn:x-xerte:p-12:will_ N 0000:00:02.90 N/A N/A__true neutral
urn:x-xerte:p-13:1 i i . were_the_  of the.i _of_the A 0000:02:14.80 N/A N/A  abc correct
urn:x-xerte:p-14:1-multiplechoice:wh.t 1RSSR (000:1:40.52 N/A NA b incorrect
urn:x-xerte:p-15:1-multiplechoice:According_ i 0000:03:54.36 N/A N/A  a correct
urnix-xerte:p-16:Complete 0000:00:08.13 N/A N/A true neutral
Student A: only one question wrong, status complete, scaled score 80%
Learing Objct Name rormme [suns[3269 0 oy
| 1 ;i?;::;:ls incomplete 90%  N/A N/A
W ;i;“;—;:;sus incomplete 90%  N/A N/A
urn:x-xerte:p-1:Introduction 0000:00:05.66 N/A NA  true neutral
p- il 3 i a . N/A b.c correct
0000:00:04.28 N/A NA  a correct
0000:00:02.90 N/A N/A true neutral
N/A b correct
urn:x-xerte:p-7:1-multiplechoice:which._ N 0000:00:09.50 N/A NA__abcd  corect
urn:x-xerte:p-8:1-match:Question_S 0000:01:13.16 N/A N/A null correct
32.60 N/A NA_ null correct
N/A N/A ab.c correct
N/A N/A true neutral
0000:00:11.38 N/A N/A  abc  corect
0000:00:09.15 N/A WA b incorrect
0000:00:06.50 N/A NIA__a correct
omplete 0000:00:04.46 N/A N/A  true neutral

My attempt: Taking the test using the answers the student gave for the same quiz, status
incomplete,scaled score 90%

Other examples include a student only getting one question correct and receiving a scaled score of
16%. When | took the quiz using the answers they gave | got 10%, which is what | would have

expected.



